. 8B (5 w2 Tk, Tinh nhan tir cia da thirc bac hai

Tén: Ngay thang: Piém:
2% + 9x— 18 8x” + 39x + 28

5x% + 5x— 150 3x% + Tx + 4

Tx + 55x + 42 5x* — 40x + 80

Sx° — 4x— 12 X —5x—6

Tx® + 27x + 18 X+ 10x+24
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Tinh nhan tir cia da thirc bac hai

Tén:

2%° + 9x — 18
(2x — 3)(x + 6)

5¢ + 5x— 150
50+ 6)(x — 5)

T + 55x + 42
(Tx + 6)(x + 7)

5x2 —4x— 12
5x+ 6)(x—2)

7+ 27x + 18
(Tx + 6)(x + 3)

8x” + 39x + 28
(8x + 7)(x + 4)

3% + Tx+ 4
Bx+4)x+1)

5x> — 40x + 80
S5x—4)(x—4)

X —5x—6
x—6)(x+1)

¥ + 10x+ 24
(x+ 4)(x + 6)
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Ngay thang:

biém:
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